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QUESTION 1

A company is currently experiencing long infrastructure provisioning times, given that the process to ask,

review, approve and deploy their services is manual with many people involved. It is considering vRealize Automation
as a resolution, but it wants to better understand how much resources it is going to need. Which three should the
architect

consider when determining the appropriate vRealize Automation deployment size for this environment? (Choose three.)
A. number of managed machines

B. number of concurrent machine provisions

C. number of catalog items

D. number of blueprints

E. number of endpoints

Correct Answer: BCD

QUESTION 2

A company has been successfully deploying virtual machines to its data center in Boston for over a year. The architect
has added the endpoint in vRealize Automation and been tasked with consuming the resources in a new data center in

Las Vegas.

With minimal change to the catalog design, which two design options could the architect consider in order to enable
users to begin deploying machines to both data centers? (Choose two.)

A. Configure the locations.xml file on the laaS Manager servers to contain a location for Las Vegas.Select "Display
Location on Request\\' within your existing blueprints.

B. Create a new reservation utilizing compute resources in Las Vegas. Create a new reservation policy and assign it to
the new reservation.

C. Configure the locations.xml file on the laaS Web servers to contain a location for Las Vegas. Select "Display location
on request\\' within your existing blueprints.

D. Copy your existing blueprints and set the reservation policy to the new reservation policy that is set on the Las Vegas
reservation.

E. Create a new reservation utilizing compute resources in Las Vegas. Set the reservation policy to the same as the
Boston reservation.

Correct Answer: BE

QUESTION 3

3V0-732 PDF Dumps | 3V0-732 VCE Dumps | 3V0-732 Exam Questions 2/4


https://www.pass4itsure.com/3v0-732.html
https://www.pass4itsure.com/3v0-732.html
https://www.pass4itsure.com/3v0-732.html

VCE & PDF https://www.pass4itsure.com/3v0-732.html
a 2024 Latest passditsure 3V0-732 PDF and VCE dumps Download
== / PassditSure.com

A company has a main office, three regional offices, and six branches offices. The network links are configured as
shown in the exhibit. View the Exhibit:

Main Office
1 Regional Office ] Ragional Office 1 Regional Office j

{ Branch Office | Branch Office ) Branch Office { Branch Office .3.—anch Office { Branch Office )

During information gathering, an architect records: The regional offices are located in secure bunkers. The CTO feels
this would be a good location for all the vRealize Automation components to meet their BC/DR objectives. However, the
CTO is looking for the best design while maintaining their very high security requirements. The branch offices are
located in very remote locations with unpredictable network performance. Reliance on the main and regional offices
needs to be minimal while still allowing provisioning of machines in the branch offices. The branch offices consist of
three host vSphere clusters. There is synchronous vSphere Metro Storage Cluster (vVMSC) between the regional offices
as well as replicated backups between the regional offices with replication running nightly. The CEO wants to have the
lowest possible RPO and RTO of the vRealize portal including the ability to manage already provisioned machines while
NOT increasing the amount of data being replicated between the regional offices as much as possible. Referring to the
exhibit, which two design specifications can the architect recommend to meet requirements? (Choose two.)

A. distributed vRealize Automation management solution in the main office

B. vSphere agents in each of the branch offices

C. distributed vRealize Automation management solution in each of the regional offices

D. distributed vRealize Automation management solution across the regional offices

E. vSphere agents in the regional offices that manage the regional and branch offices

Correct Answer: DE

QUESTION 4

An architect is tasked with designing a multi-region Software Defined Data Center (SDDC) deployment. The operations
team has mandated that the solution enable real-time logging for all automation components. The architect makes a
design decision to use a vRealize Log Insight cluster in each region, consisting of a total of three nodes. Which three
data sources are required to be in scope? (Choose three.)

A. vRealize Automation Appliance

B. NSX Manager, NSX Controller instances and NSX Edge instances

C. vRealize Operations Manager
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D. vRealize Orchestrator
E. vRealize laaS Server

Correct Answer: ABC

QUESTION 5

A development team has requested the ability to refresh database contents for existing pre- production SQL servers
managed by vRealize Automation. The developers have provided the cloud architect with a T-SQL script suitable for
performing this task. Which design recommendation would address the requirements of this scenario?

A. Build a software component to run the T-SQL script.

B. Design an XaaS blueprint based on a custom Orchestrator workflow.

C. Design a blueprint and use custom properties to run the T-SQL script.

D. Build a resource action and publish it to the developers.

Correct Answer: A
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